% = (1/5)

cR A BUALE S

2}
EEEE
¥ s JF
109.01 5%
HEFPFp11OE__ ¥~ % (HF BY) (REsE? vt)
ﬁa&?l.g'%&-%‘i’bﬁmiﬁ-ﬂﬁﬁiE%-F\?
(CPHIFAEI AR Y GO AE T a2 )
=¥ Lgﬂﬁy TEPMF
1
2
HFEFHPRFEFESL S
(50 NP Sl ERE ABE ZERPFALE R
HE . B
Al =K
il Nt 3 7 ..
T ihE B o N 4 ¥k TR IE‘%& -?S\_\.&'T >
FE R ‘ o=
R
(P82 O
BEREAEE)
PREFEFEES-F2 885 WpfFEp Y 2 FRENE-R (2°2Z8B ")
] pls_+ | 27 Pl os_x
3 pls_+ | 47 pl os_x
57 Pl x_*% | 67 2
79 Pl e x| g o2 =«
9% Pl x_4* [10% | Pl =_+4
KL AR FRERAKT RS R  HEI AR R RIAP G AP -




i 2 (2/5)

2 3 N
“J- PP 3% iL (53 )
110.01 %<
SHEEE ¥/ %R
S 57 BEE P im (3| FEAEE | B EA | AR ARt b (AT BN B
B ‘ eI (=) (=) | =) | ) Ll
IR SR SR
e &R
1 ﬁf#ﬁrﬁg-—v‘;*ﬂrx"? - -
(B#Z 7 LRI P P i)
o bop o bl A 5 A
7 Eokr e <50%
'/d"‘/;lﬁ‘ ]'Tl
3 &% v vl <5%
K 3 - -
BN EE TR ;‘“%_/I (E%‘f#—’;‘}? )
’},'fﬂ \:ﬁ‘f)\ NEEE RV 55 74 > 4 & ok
Vo A PRERP A A F RS

X

(it e o] = (3% & 47

S

QR4 EL £IT D 5T P wmm o

Nk 5 A RS T

CAIER T PR AP P LT

PR ER -

4 T

Fe e

FARDIE P md .




BRARKTZESERY

2 = (3/5)

109.01 »

S H >

RikR I

110 &

§

PREKTZES R

THEEERY

110 #

]

Kim: A AHREALBRE S OPHFEIR 29K S -




#FELERY

% = (4/5)

109.01 »
ZRE ¥/ Rix&R1IG
110 #__ " FiF= %R Y
U b E A
(B1IREFFHFLERY) (FEPIHFREHGFHRPRY SRS B
1M0#__ " HFE5RY
R b S
(BLPFFHFLITRY) (FRPHFREVRFHFY RY SR

I ARG RERI R E S I PAPFEIR NG R -




2 = (5/5)

¥ %R R
HEALFRREKT ~BAFEPHFEINPLR
EFE(HT)
EFEFRF C1I0&_ 0 P

B3 &0 BRI AP e F o9 R 4 o




